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テキスト ボックス
（包括的単価個別合意方式）



HOflf =%

THEX Sy« TH - FERI - HH50 MoK T B B G AT & G| T (GEEM)
EHE R
= 1 135, 525, 361
JE T
= 1 79,913, 673
B ARRE 1 T (1CT)
m3 39, 800 66, 971, 800
B (BEER) B - (ICT)
m3 39, 800 233.5 9, 293, 300
b TE A CEUL EHIRY L& T
m3 27, 400 380. 8 10, 433, 920
b TE A CEUL EHIRY L& T
m3 4, 000 2,226 8,904, 000
FEHIA (h=27) -1+ £50, 000m3 A
m3 31, 400 229.7 7,212, 580
R %y
m3 8, 000 3,891 31, 128, 000
R R 1 T (1CT)
m3 2,500 10, 570, 500
R R (ICT)
m3 2,500 337.2 843, 000
R %y
m3 2,500 3,891 9,727, 500
R T (1CT)
= 1 2,371,373
EHFETE (% 50 (ICT) T T Al [ oD 1 L
m2 4,570 518.9 2,371, 373
T
= 1 7, 668, 460
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THEX Sy« TH - FERI - HH50 MoK T B B G AT G| T (GEEM)
AT
= 1 7, 668, 460
% Lkt JE2em % AIRAT T 1000m2LL_E
m2 4,570 1,678 7, 668, 460
Pk A& L
= 1 9, 644, 126
EE LT
= 1 84, 089
RAE D b 36m3
= 1 9, 950
MRL 23m3
= 1 59, 547
LR IE 38m2
= 1 14, 592
LI
= 1 455, 359
7" VA NURLRI T BF 1 -B450-H295
m 54. 8,417 455, 359
AR 2 E- T
= 1 346, 890
BUGFT B AE Kt SM-B500-L500-H500 2/71)-}2
&0 6 44, 676 268, 056
* SHEL) V—=F)” 2 500X 500/ 500
g/m2
e 6 13,139 78, 834
HEAKT
= 1 8, 757, 788
INEEHEK BF I1 -B300-H200 2v/)-}@
847" 1
m 596 12, 682 7,558, 472
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THX Sy - THE - RSB - Bl W SR A N . ey =3t & W T (GEEM)
fePEk BF I1 -B300-H200 2v/)-}@
m 59. 7 18, 662 1,114, 121
5 BF300/ L=1000
e 15 2,819 42, 285
WkFavy)-b ))-+@
B#{7°
&0 3 4,979 14, 937
WkFavy)-b ))-+@
CH{7"
&0 2 4, 869 9, 738
WkFavy)-h a))-r@
D47
&0 1 4,838 4,838
WkFavy)-h a))-r@
H#{7"
&0 2 4,476 8,952
WkFavy)-h a))-r@
1947
&0 1 4, 445 4, 445
AT EDIEL
= 1 37, 509, 838
15 5 At L
= 1 37, 509, 838
155 =5 Hit HHAEAy b 4. 88m 32k RS 3m
m 198 108, 354 21, 454, 092
SRS ELTHE TR $355.6X6.4 $TiARS. 75
m
ZN 0 77, 164 0
SRS ELTHE TAERE ¢ 355. 6X6.4X 3500
ZN 67 239, 638 16, 055, 746
Ay AT
= 1 609, 680
BT (IS T)
= 1 609, 680
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & # T (GEEM)
R FEP ¢ 50 X 2%
17
m 200 2, 750 550, 000
R FRY -] W=300mm 2f%
m 200 298. 4 59, 680
iR 1
= 1 179, 584
VAN N
= 1 179, 584
AN 900X 900X 900 #:3 ($ 600 T-2)
17
T 1 179, 584 179, 584
B T
= 1 135, 525, 361
BTl TE:
= 1 15, 743, 568
BTl TE:
= 1 2,502, 273
TR
Ry 0 0
8= 500 70 o (4 TRVA [ 1pe Lzl
Ry 0 0
Htre m
= 1 1, 270, 291
JH [ 9t X R B E AR Y
= 1 50, 565
18 5 i TE e A R i
= 1 13,715
PREFE B (ICT)
= 1 158, 132
4 — E I A T =1




HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
VAT LRI (ICT)
= 1 1, 047, 879

= 1 1,231, 982
MR R (B L)
= 1 13, 241, 295
Wi
= 1 151, 268, 929
BTk X=giiv oy
= 1 44, 977, 847
R 5]
= 1 196, 246, 776
— e
= 1 30, 353, 224
T HAlik
= 1 226, 600, 000
THE B 2 %8
= 1 22, 660, 000
TG
= 1 249, 260, 000
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